REVIEW H

Find the value of each of the following:

(a) (b) (c)
780 + 45 205 + 95 386 + 155
425 — 265 632 — 473 500 — 197

2 X8 7 x 10 4 x7
32 + 4 60 = 10 50 =5

$3.95 + $6.05  $5.08 — $3.99 $8.25 — $6.75

Find the missing number in each of the following:

(a) [l + 35 =53 (b) 100 — [ = 85
(c) [l + 68 =70 d) 72 - = 4
() 28+ =100 () Jl-46=37

What fraction of the shape is shaded?

stand for 32 oranges.

How many oranges does each (" ) stand for?

A concert started at 7:30 p.m.
It lasted 50 minutes.
What time did the concert end?
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How many 50¢ coins can be changed for a $5 bill?

What is the weight of the box!?

There were 275 passengers on a train.
206 of them were adults.
How many children were there!

Alice paid $6.50 for a skirt and $8.25 for a shirt.
How much more did the shirt cost?

1 kg of crabs costs $8.
What is the cost of 5 kg of crabs!?

Jeff bought a table and 3 chairs for $120.
He paid $30 for the 3 chairs.

(a) Find the cost of one chair.

(b) Find the cost of the table.

168 men, 287 women and 113 children took part in

a parade.

(a) How many adults took part in the parade?

(b) How many more adults than children took part in
the parade!?

101



